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32.2.2
8b (2 mawn) > 10a (mia 13 5877 12)

I 2 mwn: Range of “full months” in a year — no fewer than 4 and “nx71 RY” more than 8
a  meaning: of NR71 RY
i a17 27 onon did not “see fit” to make more than 8 n'RYn
1 reason: if they made 9 o2wn (30-day months), the new moon of »wn would appear 3 days before n”1 and
people would suspect that the n'nan were acting arbitrarily
2 challenge: with 8 11211, the moon will still appear 2 days in advance — same concern
3 answer: it could happen (per ®?v7wn 7's comment) if the previous year was 11wn and 72391 month was R9n
(a) therefore: that “full month” cancels out one 7on from the previous year > only 7 months impact on 1511
(b) challenge: it’s still one day early
(c) answer: people don’t pay attention to such a minor discrepancy
ii a5 onon did not “see fit” to make any more than 8 7on (this is explaining first line of Mwn — no fewer than 4)
1 reason: if they made 9 non, the new moon of »wn would appear 3 days after n"1 (see above)
2 challenge: with 8 non, the moon will still appear 2 days after n"
3 answer: per above, the previous year was n121wn mw and the added month was on
(a) therefore: that “deficient month” cancels out 1 X9n from previous year = only 7 months impact on 151
(b) challenge: it is still one day off
(c) answer: people will assume that it was seen but no one bothered to come to 7”2
iii  basis of disagreement (between 851v/71”1): whether an added month in n7219n MW is Xon or 7oN
1 per: Rn»11—mw MY is 30 days; 3"av71 - "wTn” (29)
iv  challenge (to 777): ®:R 127Y RNavIN — 0™ always falls on same weekday as "3 DY” (3PN NRIN:MMAY) — or the next
1 x5 works fine — could have 2 summer months qon - same day; or 1 of each - next day
2 777:if 2 summer months are ®5n, itll fall 2 days later (e.g. Mm»aw on 'R BY, 1”1 on ") DY)
(a) defense (on behalf of 777): 9 is also challenged by this Xnavin; if they make 7 n’x9n and they make the
“extra one” of them in the summer, n" will still fall 2 days later than the day of myaw
(b) rather: Rnavwn authored by ornx: from nyaw to the next myaw (and n"<->n") difference of 4 days
(i) and:inaniyn mw -5 days
(ii) reason: the year is always 354 days (6 ®Yn; 6 7on; MYn WNN is always Ron) i.e. 50 weeks and 4 days
1. challenge: according to DN, N" can never fall on mMy1aw
2. defense (Xw7wn 37): if the previous year was n121yn mv (and added month - 30 days)
3. therefore: after n121wn M, the difference is 6 days - but it must be no more than 5 - make 1
summer month 7on = 1”1 can fall out on same day as m»1aw
(c) question (X”a87to X17): why is 0 INR just teaching a calendar reality?
(i) answer: teaches that 7”2 may “manipulate” months without mTy to conform to this schema
(d) challenge (¥227): DINR’s counting is inexact — there are 8 hours + beyond 354 days in a lunar year
(i) answer: since those corrections don’thappen every year, he didn’t mention them
(e) note: YRINW agrees with X110 1: the lunar year is always between 352-356 days
(i) explanation: if 2 of the (usually) 7on months are made 85n: 356; vice-versa: 352; if normal: 354
(if) challenge: if someone commits to M1 “per days of solar year” — 365 days; “per lunar year” — 354
1. but: according to YRV, it could be as much as 356
2. answer: regarding M, we follow colloquial use; lunar year is typically 354 days
(f) note: 211 also agrees with X110 ™, per Rn»1a:
(i) an77773 27 once made 9 qon months in a year, yet the new moon of »wn appeared on »wna 'R
(if) 227 72 w”7. explained to his father — that perhaps since the previous year was a n1ayn mw with a 30
day surplus month — and the previous year both “flexible months” were made X9n — so those 3
D'RYN “cancel out” the 3 “extra” w1 on of this year and all fell out on schedule
1. 227 confirmed that that is what happened (and called his son “oxw> 11”)
II  Continuation of 2 nwn: more “ranges”
a  pnbnnw. are eaten on either 2" day (most cases) or 3 (if m»aw is on’® 1) from when it is baked
b 022977 onb. are eaten anywhere from 9% day (most cases) to 11 day (if 1”1 is on -0 0V of previous week) from baking
¢ 79p 1z (if healthy) is anywhere from 8 day (most cases) to 12 day (if born w”na of 'n 0y and next ¥-n are 1)
i Reason: non isn’t done on naw or 1 0¥ unless 'R — born "1 D" yet circumcised on 12 day —'x Dy

www.dafyomivicc.org 7 © Yitzchak Etshalom 2012




